










A + B means A is the father of B/ A, B का पिता है

A × B means A is the sister of B / A, B की बहन है

A $ B means A is the wife of B / A, B की ित्नी है

A % B means A is the mother of B / A, B की मााँ है

A ÷ B means A is the son of B / A, B का िुत्र है

Q. What should come in place of the question mark, to establish that J is the brother of L 

in the given expression / प्रश्न पिह्न के स्थान िर क्या आना िापहए, यह स्थापित करने के पिए पक दी गई 

अपिव्यपि में J,L का िाई है? 

J ÷ P % H ? T + L × R 

(1) ×

(2) ÷

(3) $ 

(4) Either ÷ or ×

(5) Either + or ÷ /  +  ÷



Sita starts her journey from point ‘Z’ and 

walks 10km east to reach point ‘Y’ then 

she turns to her left and walks 3km to 

reach point ‘R’ and then she turns to her 

left again and walks 12km to reach point 

‘S’. Again, she turns to her left and walks 

3km to reach point ‘E’

Point E is in which direction with respect 

to the point R?

1.North west 2.North east

3.North 4.South east 

5. South west

सीता ब िंद ु'Z' से अपनी यात्रा शरुू करती ह ैऔर ब िंदु

'Y' पर पह िंचने के बिए परू्व की ओर 10 बकमी चिती 

ह,ै बिर र्ह अपनी  ाई िं ओर मडु़ती है और ब िंद ु'R' 

पर पह िंचने के बिए 3 बकमी चिती है और बिर र्ह 

बिर से  ाई िं ओर मडु़ती ह ैऔर ब िंद ु'S' पर पह िंचने के 

बिए 12 बकमी चिती ह।ै '। बिर से, र्ह अपनी  ाई िं 

ओर मडु़ती ह ैऔर ब िंद ु'E' पर पह ुँचने के बिए 3 

बकमी चिती ह।ै

ब िंद ुE, ब िंद ुR के सन्दर्व में बकस बदशा में ह?ै 

1.उत्तर पबिम 2. उत्तर परू्व 

3.उत्तर 4.दबिण परू्व 

5. दबिण पबिम



Sita starts her journey from point ‘Z’ and 

walks 10km east to reach point ‘Y’ then 

she turns to her left and walks 3km to 

reach point ‘R’ and then she turns to her 

left again and walks 12km to reach point 

‘S’. Again, she turns to her left and walks 

3km to reach point ‘E’

Point E is in which direction with respect 

to the point R?

1.North west 2.North east

3.North 4.South east 

5. South west



In the given word ‘MOTIVATION’ if the vowels are changed to the next 

letters and the consonants are changed to the previous letters as per the 

alphabetical series, then which letter/letters are repeated more than once? 

बदए गए शब्द 'MOTIVATION' में यबद र्णवक्रम के अनसुार स्र्रों को अगिे अिरों में  दि 

बदया जाता ह ैऔर व्यिंजन को बपछिे अिरों में  दि बदया जाता ह,ै तो कौन से अिर/अिरों को

एक से अबिक  ार दोहराया जाता ह?ै

1.Two 2.Three 3.Four 4.None 5.one



If 2 is added to each even digit and 1 is subtracted from each odd digit 

in the number 945217, then what will be the sum of number/numbers 

not repeated in the new number?

यबद सिंख्या 945217 में प्रत्येक सम अिंक में 2 जोड़ा जाता ह ैऔर प्रत्येक बर्षम अिंक से

1 घटाया जाता ह,ै तो नई सिंख्या में दोहराई जाने र्ािी सिंख्या/सिंख्याओ िं का योग क्या

होगा?

1.8 2.4 3.5 4.7 5.6



How many pair of letters are there in the word “EFFECTIVE” 

which has as many letters (in both forward and backward 

direction) in between as they have in English alphabet series?

शब्द “EFFECTIVE” में अिरों के ऐसे बकतने यगु्म हैं बजनके  ीच में उतने ही

अिर हैं (आग ेऔर पीछे दोनों बदशाओ िं में) बजतने उनके  ीच अिंगे्रजी र्णवमािा 

श्रिंखिा में हैं?

1.Two 2.Three 3.Four 4.None of these 5.One



Following questions are based on the five three-digit numbers given below:

473, 169, 825, 692, 538
If all the digits in each of the numbers is arranged in descending order within the 

number, which of the following will form the lowest number in the new 

arrangement of numbers?

यपद संख्याओ ंके िीतर प्रत्येक संख्या में सिी अंकों को अवरोही क्रम में व्यवपस्थत पकया गया है, 

तो पनम्न में से कौन सी संख्याओ ंकी नई व्यवस्था में पनम्नतम संख्या होगी?

(1) 473

(2) 169

(3) 825

(4) 692

(5) 538



Directions: Following questions are based on the five three-digit numbers given below:

473, 169, 825, 692, 538
If all the numbers are arranged in ascending order from left to right, which of the following 

will be the product of the second and the third digits of the number which is second from the 

left end of the new arrangement?

यपद सिी संख्याओ ंको बाए ंसे दाए ंओर आरोही क्रम में व्यवपस्थत पकया गया है, तो पनम्न में से कौन सा दूसरा 

अंक और तीसरे अंक का गुणनफि होगा जो संख्या नई व्यवस्था के बाए ंपसरे से दूसरे स्थान िर है?

(1) 18

(2) 54

(3) 24

(4) 21

(5) 10



In a certain code, ‘FAKE’ is written as ‘#@&5’ and ‘TROLL’ is written as 

‘9+>%%’. Then, how is ‘LETTER’ written in that code?

एक बनबित कोड में, 'FAKE' को '#@&5' बिखा जाता ह ैऔर 'TROLL' को '9+>%%' 

बिखा जाता ह।ै तो, उस कूट र्ाषा में ‘LETTER’ को बकस प्रकार बिखा जाएगा?

1.%9559+
2.%5995#
3.%9595+
4.%5995@
5. %5995+



‘value theme particle around’ is written as ‘tfk dm un ssd’ 

‘song new theme sing’ is written as ‘dj xy tfk src’ 

‘sing loud particle mix’ is written as ‘ssd bt src hnm’ 

‘around theme mix song’ is written as ‘xy un tfk bt’ 

What is the code of ‘around’? 

‘around’का कूट क्या ह?ै 

1.un 2. dm 3. dj 4. src 5. ssd



‘value theme particle around’ is written as ‘tfk dm un ssd’ 

‘song new theme sing’ is written as ‘dj xy tfk src’ 

‘sing loud particle mix’ is written as ‘ssd bt src hnm’ 

‘around theme mix song’ is written as ‘xy un tfk bt’ 

In the coded language, ______ is coded as ‘hnm’. 

कूट र्ाषा में ______ को 'hnm' के रूप में कूट द्ध बकया जाता ह।ै

1. theme 2. particle 3. around 4. loud 5. value



Statements:

Some A are B.

All B are C.

Only a few D are C.

Conclusions:

I. Some D are not A.

II. Some D are not B.

कथन:

कुछ A, B हैं। 

सर्ी B, C हैं। 

केर्ि कुछ D, C हैं। 

बनष्कषव: 

कुछ D, A नहीं हैं।

कुछ D, B नहीं हैं।



Statements:

Some A are B.

All B are C.

Only a few D are C.

Conclusions:

I. Some D are not A.

II. Some D are not B.



Statements:

Some Sparrow are Parrot.

Only a few Parrot are Camel.

All Camel are Goats.

Conclusions:

I. All Sparrow are Parrot.

II. Some Parrot are not Camel.

कथन: 

कुछ स्पैरो पैरट हैं. 

केर्ि कुछ तोते ऊिं ट हैं। 

सर्ी ऊिं ट  कररयािं हैं। 

बनष्कषव: 

सर्ी स्पैरो पैरट हैं. 

कुछ पैरेट कैमि नहीं हैं।



Statements:

Some Sparrow are Parrot.

Only a few Parrot are Camel.

All Camel are Goats.

Conclusions:

I. All Sparrow are Parrot.

II. Some Parrot are not Camel.



Statements:

Only a few Bus is Car.

Some Car is Train.

Some Train is Truck.

Conclusions:

I. Some Car is Truck.

II. All Bus being Car is a 

possibility.

कथन: 

केर्ि कुछ  स कार ह.ै 

कुछ कार टे्रन ह.ै 

कुछ टे्रन ट्रक ह.ै 

बनष्कषव: 

I. कुछ कार ट्रक ह।ै 

II. सर्ी  स के कार होने की सिंर्ार्ना ह।ै



Statements:

Only a few Bus is Car.

Some Car is Train.

Some Train is Truck.

Conclusions:

I. Some Car is Truck.

II. All Bus being Car is a 

possibility.



Eight members of a family are living in a house, in which two are married 

couples. N is the father of D. E is married to N. G and D are siblings. C is 

married to G. N has no son. K is the father of E. Q is the only son of C. A is 

the brother-in-law of N. 

Who among the following is the son-in-law of N?

एक घर में एक पररर्ार के आठ सदस्य रह रह ेहैं, बजसमें दो बर्र्ाबहत जोडे़ हैं। N, D का बपता ह।ै 

E का बर्र्ाह N से ह आ ह।ै G और D र्ाई- हन हैं। C, G से बर्र्ाबहत ह।ै N का कोई पतु्र नहीं 

ह।ै K, E का बपता ह।ै Q, C का इकिौता पतु्र ह।ै A, N का ब्रदर-इन-िॉ ह।ै 

बनम्नबिबखत में से कौन N का दामाद ह?ै

1.K 2.C 3.Q 4.G  5.None of these



Eight members of a family are living in a house, in which two are married 

couples. N is the father of D. E is married to N. G and D are siblings. C is 

married to G. N has no son. K is the father of E. Q is the only son of C. A is 

the brother-in-law of N. 

Who among the following is the son-in-law of N?

1.K 2.C 3.Q 4.G  5.None of these



Statement: 

P ≤ Q < S = T ≥ U ≥W < Z

Conclusion:

I. S > W

II.W = T



Statements: 

H > G < C, E ≥ K < D ≤ B, E = C

Conclusions:

I.G ≤ D

II. G>D



Statements: 

H ≤ X ≤ R = O > T; Y = F ≥ R > D 

Conclusions:

I. H ≥ Y

II. Y > H



Statements: 

T ≥M = K < B = G < P ≥ V > L; X > Z > T

Conclusions

I. X > P

II. P ≥ T



Statements: 

P < Q ≥ G; G ≥ I ≥ E; C ≤ P; C > U

Conclusions:

I. U > I

II. P ≤ E



Six persons (C, D, E, F, J, K) were born 

on two different dates 5, 12 of three 

different months viz. March, May and 

September. Only one person was born on 

one date of a month. J was born on the 5 

th of a month having 30 days. Not more 

than two persons were born between F 

and E. C was born on an even-numbered 

date but immediately after K. Only two 

persons were born between J and C. D 

was born before E. K was born before F 

but not after D. At least two people were 

born after F

छह व्यबियों (C, D, E, F, J, K) का जन्म दो 

अिग-अिग तारीखों 5, 12 को तीन अिग-अिग 

महीनों में ह आ था। माचव, मई और बसतिं र। केर्ि एक 

व्यबि का जन्म महीने की एक तारीख को ह आ था। J 

का जन्म 30 बदनों र्ािे महीने की 5 तारीख को ह आ 

था। F और E के  ीच दो से अबिक व्यबियों का जन्म

नहीं ह आ था। C का जन्म सम-सिंख्या र्ािी तारीख को 

ह आ था, िेबकन K के तरुिंत  ाद। J और C के  ीच 

केर्ि दो व्यबि पैदा ह ए थे। D का जन्म E से पहिे 

ह आ था। K के जन्म F से पहिे िेबकन D के  ाद नहीं

ह आ था । F के  ाद कम से कम दो िोगों का जन्म 

ह आ



Six persons (C, D, E, F, J, K) were born 

on two different dates 5, 12 of three 

different months viz. March, May and 

September. Only one person was born on 

one date of a month. J was born on the 5 

th of a month having 30 days. Not more 

than two persons were born between F 

and E. C was born on an even-numbered 

date but immediately after K. Only two 

persons were born between J and C. D 

was born on one of the months before E. 

K was born before F but not after D. At 

least two people were born after F



Nine boxes A, B, C, D, E, F, G, H, and I are 

kept one above the other not necessarily in the 

same order. Three boxes are kept between A and 

B. Equal number of boxes are kept above and 

below A. Number of boxes kept above B is 

same as the number of boxes kept below C. 

Only two boxes are kept between C and I. One 

box is kept between A and G, which is not kept 

immediate above I. No box is kept between F 

and D, which is not kept above F. E is placed 

below H, which is kept immediate below D. 

How many boxes are kept between F and A?

1.Two 2.One 3.Three

4.More than three 5.None

नौ बडब् े A, B, C, D, E, F, G, H, और I को एक 

के ऊपर एक रखा गया ह,ै जरूरी नहीं बक इसी क्रम में 

हो। A और B के  ीच तीन  ॉक्स रखे गए हैं। समान 

सिंख्या में  ॉक्स A के ऊपर और नीचे रखे गए हैं। B 

के ऊपर रखे गए  ॉक्स की सिंख्या C के नीचे रखे गए 

 ॉक्स की सिंख्या के समान ह।ै C और I के  ीच 

केर्ि दो  ॉक्स रखे गए हैं। एक  ॉक्स A और G के 

 ीच रखा गया ह,ै जो I के ठीक ऊपर नहीं रखा गया 

ह।ै F और D के  ीच कोई  ॉक्स नहीं रखा गया ह,ै 

जो F के ऊपर नहीं रखा गया ह।ै E को H के नीचे 

रखा गया ह,ै बजसे D के ठीक नीचे रखा गया ह।ै 

F और A के मध्य बकतने बडब् े रखे गए हैं? 

1.दो 2.एक 3.तीन 4.तीन से अबिक

5.कोई नह ीं



Nine boxes A, B, C, D, E, F, G, H, and I are 

kept one above the other not necessarily in the 

same order. Three boxes are kept between A and 

B. Equal number of boxes are kept above and 

below A. Number of boxes kept above B is 

same as the number of boxes kept below C. 

Only two boxes are kept between C and I. One 

box is kept between A and G, which is not kept 

immediate above I. No box is kept between F 

and D, which is not kept above F. E is placed 

below H, which is kept immediate below D. 

How many boxes are kept between F and A?

1.Two 2.One 3.Three

4.More than three 5.None



Seven persons A, C, P, L, J, K, F are sitting 

around a circular table but not necessarily in the 

same order. Only two of them are facing inside. 

Three persons are sitting between F and P when 

counted from the right of F. L is sitting second 

to the left of K who is facing inside. L is not an 

immediate neighbor of A or F. Both the 

immediate neighbors of K are facing in opposite 

direction as that of K. The person sitting 

adjacent to both J and P is facing outside. A is 

sitting to the immediate left of F and facing 

outside. J is an immediate neighbor of neither F 

nor P. L is sitting to the immediate left of P. 

Who is sitting to the immediate right of J?

1.C 2.F 3.L 4.A 5.P

सात व्यबि A, C, P, L, J, K, F एक र्रत्ताकार मेज 

के चारों ओर  ैठे हैं िेबकन आर्श्यक नहीं इसी क्रम

में हों। उनमें से केर्ि दो का मखु अिंदर की ओर ह।ै F 

के दायें से बगनने पर F और P के  ीच तीन व्यबि  ैठे 

हैं। L, K के  ायें से दसूरे स्थान पर  ैठा ह,ै बजसका 

मखु अिंदर की ओर ह।ै L, A या F का बनकटतम 

पड़ोसी नहीं ह।ै K के दोनों बनकटतम पड़ोबसयों का 

मखु K के बर्परीत बदशा में ह।ै J और P दोनों के 

बनकट  ैठे व्यबि का मखु  ाहर की ओर ह।ै A, F के 

ठीक  ायें  ैठा ह ैऔर  ाहर की ओर उन्मखु ह।ै J न 

तो F और न ही P का बनकटतम पडोसी ह.ै L, P के 

ठीक  ायें  ैठा ह.ै J के ठीक दायें कौन  ैठा ह?ै 

1.C 2.F 3.L 4.A 5.P



Seven persons A, C, P, L, J, K, F are sitting 

around a circular table but not necessarily in the 

same order. Only two of them are facing inside. 

Three persons are sitting between F and P when 

counted from the right of F. L is sitting second 

to the left of K who is facing inside. L is not an 

immediate neighbor of A or F. Both the 

immediate neighbors of K are facing in opposite 

direction as that of K. The person sitting 

adjacent to both J and P is facing outside. A is 

sitting to the immediate left of F and facing 

outside. J is an immediate neighbor of neither F 

nor P. L is sitting to the immediate left of P. 

Who is sitting to the immediate right of J?

1.C 2.F 3.L 4.A 5.P



Five persons T, N, R, C and G went to the market 

on different days of a week from Monday to 

Friday, but not necessarily in the same order. They 

wore different types of cloths among Cotton, Silk, 

Wool, Leather and Linen. Additional information 

about them is given below. Three persons went to 

the market between the persons who wore Cotton 

and Leather. T wore Silk cloth and went on one of 

the days after C. C did not wear Linen. Two 

persons went to the market between R and N. R 

and G did not wear Leather. The number of persons 

who went to the market before N is more than the 

number of persons went to the market after N. C 

did not go to the market on Monday. 

Who went to the market on Monday? 

1.R 2.G 3.N 4.C 5.None of these

पािंच व्यबि T, N, R, C और G सोमर्ार से शकु्रर्ार तक 

सप्ताह के अिग-अिग बदनों में  ाजार जाते हैं, िेबकन जरूरी 

नहीं बक इसी क्रम में हों। उन्होंने कपास, रेशम, ऊन, चमड़ा 

और बिनन के  ीच बर्बर्न्न प्रकार के कपडे़ पहने। उनके  ारे

में अबतररि जानकारी नीचे दी गई ह।ै कपास और चमड़ा 

पहनने र्ािे व्यबियों के  ीच तीन व्यबि  ाजार गए। T ने 

रेशम का कपड़ा पहना और C के एक बदन  ाद चिा गया। 

C ने बिनन नहीं पहना। R और N के मध्य दो व्यबि  ाजार 

गए। R and G ने चमड़ा नहीं पहना था। N से पहिे  ाजार 

जाने र्ािे व्यबियों की सिंख्या N के  ाद  ाजार जाने र्ािे

व्यबियों की सिंख्या से अबिक ह।ै C सोमर्ार को  ाजार नहीं

गया। 

सोमर्ार को कौन  ाजार गया था? 

1.R 2.G 3.N 4.C 5.इनमें से कोई नहीं



Five persons T, N, R, C and G went to the market on 

different days of a week from Monday to Friday, but 

not necessarily in the same order. They wore different 

types of cloths among Cotton, Silk, Wool, Leather and 

Linen. Additional information about them is given 

below. Three persons went to the market between 

the persons who wore Cotton and Leather. T wore 

Silk cloth and went on one of the days after C. C 

did not wear Linen. Two persons went to the 

market between R and N. R and G did not wear 

Leather. The number of persons who went to the 

market before N is more than the number of 

persons went to the market after N. C did not go to 

the market on Monday. 

Who went to the market on Monday? 

1.R 2.G 3.N 4.C 5.None of these


